Operations Decimal

1. Add the following decimals:
(a) 5.28 +1.23

(b) 2.25 + 1.7 + 3.23

(c) 228.18 + 72.65 + 115.38

(d) 2335.28 + 1.6 + 2.65

2. Find the sum in each of the following:

(a) 62.7,47.52,4.08 and 28.5

(b) 4.705, 11.3, 29.05 and 13.57
3. Subtract the following decimals:

(a) 38.16 from 60.48

(b) 42.66 from 100.71

(c) 116.75 from 180

(d) 175.09 from 200.29

4. Find the difference:
(@) 771.80-338.28 (b) 338.75-178.80
(c) 475 -298.46 S (d) 136.75 - 29.704

5. Rukhsar travelled 5 km 62 m by bus, 2 km 385 m by car and the rest 3 km 30 m she
walked. How much distance did she travel in all?

6. Raghav’s mother gave him X48.50 and his father gave him X22.60. Find the total
amount given to Raghav by his parents.



7. Akanksha walked 6.42 km on Monday, 8.28 km on Tuesday and some distance on
Wednesday. If she walked 23. 03 km in three days, how much distance did she
walk on Wednesday?

8. At a petrolstation, 23 1 400 ml of petrol was filled in a car,6 | 250 ml was filled in a
two-wheeler and 9 |1 375 ml in an auto rickshaw. How much petrol was sold?

9. Following temperature was recorded for three consecutive days:
Sunday - 32.4°C Monday - 42.2°C Tuesday - 37.5°C

(a) Find the difference between temperature on Sunday and Tuesday.
(b) Find the sum of temperature for the three days.

10. Kamini had X801.40. Kokila had ¥59.60 more. What amount of money did Kokila
have?

11.Karan purchased a book for X40.38,a geometry box for X80.50 and one dozen
pencils for X120.He gave five hundred rupees to the shopkeeper. How much money
will he get back?

12.Find the sum of the place value of 4 appearing at different places in the number
454.60405?

13.Ajay, Vijay and Shravan bought 8.2 liters, 3.25 liters and 4.60 liters of milk
respectively from a milk booth. How much milk did they buy in all? If there was 40
liters of milk in booth, find the quantity of milk left?

14. Abhinay is carrying a bag of mass 2.80 kg. His father is carrying another bag of mass
10.25 kg. What is the mass of both bags together?

15. Muskan bought 5.75 m fabric for her dress. She used 4.25 m for herself. How much
fabric is left with her?

16.The sum of two numbers is 16.25. If one of the numbers is 9.28. Find the other.

17.Rakesh had a note X2000. He bought a wallet for X110.50. He also bought some
medicines and paid a bill of ¥235.45.What money was left with him?



18.Sangeeta ran 5.25 km and Smantha ran 7.05 km. How much longer did Smantha
run than Sangeeta?

19. An ant moved 40.2 cm straight south. It moved back 75.63 cm towards North-east.
Then it went 15.225 cm straight east. Find the total distance covered by it?





